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QUESTION 1

Refer to the exhibit.

IP WAN

o
FXS-FXO
&

Alice “Fﬂ>

2001

When Alice, at extension 2001, places a call to Bob, at extension 3001, Alice hears her own voice reflected. Which type
of echo is this classified as?

A. talker echo

B. listener echo

C. tail circuit echo

D. front-end circuit echo

Correct Answer: A

QUESTION 2

Which two of the following signaling protocols are peer-to-peer protocols? (Select two.)
A. H.323

B. MGCP

C. SIP

D. SCCP
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Correct Answer: AC

QUESTION 3

Which tool or approach is the most effective to display detailed real-time output of CPU utilization of Cisco Unified
Communications Manager servers for troubleshooting purposes?

A. RTMT

B. DNA

C. creating trace files
D. sniffer traces

Correct Answer: A

QUESTION 4

Which three troubleshooting tools are available on Cisco Unified Communications Manager? (Choose three.)
A. CLI

B. SDL and SDI trace

C. Netcool

D. alarms

E. SCCP troubleshooting tools

F. RTMT

Correct Answer: ABF

QUESTION 5

Which two of the following items are the gateway supplementary services? (Select two.)
A. Hold

B. DTMF relay

C. Transfer
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D. Transcoding

Correct Answer: AC

QUESTION 6

If after observing the results of your action plan, the problem still remains, at what point should you restart the
troubleshooting process?

A. Implement Action Plan

B. Define the Problem

C. Consider the Possibilities
D. Create Action Plan

E. Gather Facts

F. Observe Results

G. Problem Resolved

H. Document Facts

Correct Answer: C

QUESTION 7

You have received a trouble ticket stating that the MWI light is not coming on for a group of users. Further investigation
reveals that the affected users are connected to the same subscriber in the cluster. Users that are connected to other
subscribers in the same cluster are not experiencing this issue.

What is causing this problem?

A. The MWI numbers for this subscriber have been changed.

B. The Cisco Unity voice-mail services need to be restarted for the subscriber so all the users will receive proper MWI
message indication.

C. Database replication has an error or has failed.
D. The voice-mail ports assigned to the subscriber are down.

Correct Answer: C
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QUESTION 8

If you need to avoid choppy speech, what is the maximum tolerable round-trip delay between two VolP endpoints?
A. 100 ms

B. 200 ms

C. 300 ms

D. 400 ms

E. 500 ms

F. 800 ms

Correct Answer: C

QUESTION 9

In a Cisco UCM single-site deployment, please choose the maximum number of IP phones that can register with a UCM
cluster.

A. 2500
B. 7500
C. 10,000
D. 30,000

Correct Answer: D

QUESTION 10

Refer to the exhibit. Click the Voice gateway for the BR2 location to view the output from the debbug voice ccapi inout
command and click on 10.1.5.10 to view and search the trace file output. Output can be searched by entering a string in
the

Search box and click the Find button. click the X to return to the item.

A trunk has been configured between the Cisco Unified CallManager cluster at 10.1.5.10 and a CME at 10.3.130.1.
During testing you find that calls are completed when dialing from ext.2001 to ext.4001, but calls from ext. 4001 to ext.
2001

receive a fast busy.

What is the issue that is preventing calls from ext. 4001 to ext. 2001 from being completed?
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Point and Shoot:

, |Refer to the exhibit. Click the Voice Gateway for the BR2 location fo view the output from the debug voice ccapi inout
command and click on 10.1.5.10 to view and search the trace file output. Quiput can be searched by entering a string in the

Search box and clicking the Find button. Click the X to return to the itemn.

A trunk has been configured between the Cisco Unified CallManager cluster at 10.1.5.10 and a CME at 10.3.130.1. During

testing you find that calls are completed when dialing from ext. 2001 to ext. 4001, but rom ext. 4001 to ext. 2001

receive a fast busy. What is the issue that is preventing calls from ext. 4001 to ex m being completed?

() The h323-gateway veip bind srcaddr 10.3.130.1 command needs ééééd to BR2
O A translation rule has been applied that is keeping the call from b pleied
O The CSS has been omitted from the trunk configured to B

() Anincarrect CSS has been applied to the gateway at H&
() The trunk IP address in the Cisco Unified CallManag ation field is incorrect

10.3.130.1

Ext 4001

Hot Area:

Refer to the exhibit. Click the Voice Gateway for the BR2 location fo view the output from the debug voice ccapi inout
command and click on 10.1.5.10 to view and search the trace file output. Qutput can be searched by entering a string in the
Search box and clicking the Find button. Click the X to return to the itemn.

A trunk has been configured between the Cisco Unified CallManager cluster at 10.1.5.10 and a CME at 10.3.130.1. During
testing you find that calls are completed when dialing from ext. 2001 to ext. 4001, but rom ext. 4001 to ext. 2001
receive a fast busy. What is the issue that is preventing calls from ext. 4001 to ex m being completed

() The h323-gateway veip bind srcaddr 10.3.130.1 command needs ééééd to BR2

O A translation rule bas been applied that is keeping the call from b pleied
() The CSS has been omitted from the trunk cenfigured to B

O An incorrect CSS has been applied to the gateway at H@?
() The trunk IP address in the Cisco Unified CallMana % rmation field is incorrect

2
o

Ext 2001

Correct Answer:
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Refer to the exhibit. Click the Voice Gateway for the BR2 location fo view the output from the debug voice ccapi inout
command and click on 10.1.5.10 to view and search the trace file output. Quiput can be searched by entering a string in the
Search box and clicking the Find button. Click the X to return to the itemn.

A trunk has been configured between the Cisco Unified CallManager cluster at 10.1.5.10 and a CME at 10.3.130.1. During
testing you find that calls are completed when dialing from ext. 2001 to ext. 4001, but rom ext. 4001 to ext. 2001
receive a fast busy. What is the issue that is preventing calls from ext. 4001 to ex m being completed?

O The h323-gateway voip bind srcaddr 10.3.130.1 command needs L é&w to BR2
O A translation rule bas been applied that is keeping the call from bg@ rhple!ed
() The CSS has been omitted from the trunk configured to BI}@\

O An incorrect CSS has been applied to the gateway at H%)Q/
O The trunk IP address in the Cisco Unified Cai!Managﬁs I

rrmation field is incorrect

Ext 2001 10.1.5.10 10.1.110.1

QUESTION 11

Refer to the exhibit.
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When calling 911, which gateway/route list is defined in the route pattern in Cisco Unified Communications Manager
and used to route matched digits to the PSTN?

A. SEP002290BA361B

B. standardLocalRG C. RouteListCdrc

D.LRG_RL
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E. nodeld =1
F. BRANCH

Correct Answer: D

QUESTION 12

Refer to the exhibit.

E&M E&M

C kef
FXS-FXO 6 FXS-FXO

When Alice at extension 2001 places a call to Bob at extension 3001, Bob hears Alice\\'s voice twice. What type of echo
is this classified as?

A. Talker echo.

B. Listener echo.

C. Tail circuit echo.

D. Front end circuit echo.

Correct Answer: B
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